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t910.05=1.833, tgyo.025=2.262, t10'0_05=1.812, t10,0.025:2-2281 t18'0_01=2.552, tlgyo.02:2.214, t1910.01=2.539,
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Bo bo= (1) )
B1 bi= (8) (4)

- 18—5 -1, 4938(—) 8.0434

_ Lo @) _
- \/ (o + 1050 (1:1259) =0.6732

SSE  SST—SSR _ SS, —h?2SS,

1 MSE = = =
n-k-1 n-k-1 n-k-1
2
_ 370.5—-(1.4938)°(162) 11259
10-1-1
_SSxy _ 242 4 493s

ss, 162
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B 5 p REPF o D h] 2GR 3t B (1)~ (4)% £ B E 715 (Variance Inflation Factor,
VIF) - (84)
F1% e | LR, % B b9 715 VIF
X, 0.0842 (1)
X, 0.9642 2)
Xs 0.1141 (3)
X4 0.5687 (4)
:
() > -1 10010
1-R?  1-0.0842
) = = L 57033
1-R?  1-0.9642
) = L 11268
1-R; 1-0.1141
) — = L 3186
1-R? 1-0.5687
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i |1 2 3 4 5 6 7 8 9 10 1

Xi | 25 27 32 38 40 44 48 54 69 79 88
Y. | 63 60 64 69 70 76 93 102 111 128 133
(= )31 E] T2 23 H S BorPra B e o (104 )
() B2 #R2 ® o (54)
()33 & 58Py 3 Eby 2 3+ 1R 2 3% (standard error) - (54 )
:
E;F%ﬁ?“ Y, =f,+ B X +&,1=12,--- 11
gi~N(0,0'2)
Yy SSxy _ 5534545 _ . ior
SS,  44.2073
By =Y - BX =9—619—12 5195(&) 26.1763
R = SSR _ f3SS, _ (12.5195)*(44.2073) _ 0.9638
SST  SS, 7188.9091
~ MSE  [28.8834
)WV (B) = = =0.8083
WVIA) \/ssx \/44.2073
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SSE  SST -SSR SS, — j32SS,

= = 28.8834
n-k-1 11-1-1

i IMSE =

e~ FFREY oz B op FHX, 0 Xy o feXgagat F07 2 ANOVAL 40T ©

Source df SS
Reg 3 1029.9
Res 18 575.8
Total 21 1605.7
P ABGIEE L S|4
IS Tt B 1R 2E p-value 4] - SS
Bo 48.63 18.56 0.0173 113654
B1 -0.0258 0.172 0.8826 597.56
B, -0.507 0.235 0.0445 1.57
Bs 1.237 0.337 0.0018 430.76
(= )i+ & #& THo * E[Y]=Bo+B1Xa+PsXs Vs, Ha i E[Y]=Bo+B1 X1+ Xo+PsXs2 & T3 E -
(34)
(= )33 & & THo  E[Y]=Bo+B1X1 vs. Ha : E[Y]=Bo+B1Xa+BoXo+PsXs 2 # E.
2.
X EY¥H X2 3 Eﬁf FIANOVAZ 4o @
Source df SS
Reg 1 849.9
Res 20 1)
Total 21 (2
(2)i3 5 ()~ (2% & THo * E[Y]=Bo+B3sXz vs. Ha : E[Y]=Bo+P1X1+B2X,+B3X32 &
E - (64)
XOF A EEN=22 0 2 FIR Y P X s Xo ~ Xaz A §F AT T codp M R o 4T
Y X1 X5 X3
Y 1.0 -0.610 0.019 0.728
X1 1.0 -0.082 -0.703
X5 1.0 0.439
X3 1.0
(= )33+ & ¥ 4p B T2 B (partial correlation coefficients) ryi, (34 ) frryais (64 ) 2 & o
:
f@?ﬁfﬁ Y =B+ BXy + B Xy + B Xy +e,i =12,-0,22
iid
g~ N(0,02%)
(- )TS:T = 520 4 0aa5
2
CyrsiEr - SSROGXGIX)/2 - [SSR(X, | X,) + SSR(X, | X, X,))/2
- SSE(X,, X,, X,)/22-3-1 SSE(X,, X,, X,)/18
_ [1.57 + 430.76]/2 _6.7575
575.8/18

(= )(1)755.8:(2)1605:7
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SSR(X;, X, | X5)/2  [SSR(X,, X, X5) + SSR(X,)]/2

TS: F'= =
SSE(X,, X,, X,)/22-3-1 SSE(X,, X,, X;)/18
_ [1029.9 -849.9]/2 28135
575.8/18
r,— I,k (-0.61) — (0.019)(-0.082) 06106

) fe = Jor 12 - (0.019)%\1—(-0.082)°

_ (-0.488) — (~0.2014)(0.3546) _

r-Y23 r-Y13r123

r — —0.4549

e rm\/l (2, |1-(0.2014)2 1 (0.3546)"

i —F,h (0.019) - (0.728)(0.439) _ 400

e \/1 rY3\/l 21— (0.728)% 1 (0.439)’

. —Fah, (-061)- (0.728)(-0703) _ .0,
Yl3 - .
NN \/1 (0.728)% /1~ (~0.703)?
1893 128 1.70 2.78 6.73
T g mn=23. v ¥ t'%(X'X)fl= 1.28 0.33 047 0.34 b= -1.92 g

1.70 0.47 1.02 0.76 5.94
278 0.34 0.76 0.74 391

MSE=3.642 s144f b B 4L > 71 -
(- )3 r+bonferroniiz 3+ & By » P227 P32 94%5H £ L #F % A (simultaneous confidence intervals) -
(125 )
. (= )33t 5 2B1+PBo+PaiT96% L 4 ® B o (84 )
vy :
E?ﬁw Y ﬂ(i ﬂlxll +ﬁ2X2| +ﬂlx3| -i_‘c"i’i :1'21“"23
& ~N(0,6°%)
S%(b) = (X'X)*MSE
= )ﬁl [/Tﬁf ,I:ﬂﬁEﬁFEIJ

(A, £t o0 S(4) = (-L92£2. 539./(0.33)(3.64)) = (~4.7027,0.8627)
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[EIIJ FEIJ1E b -

B,V ﬁﬁ‘
S(ﬂ2 )) =(5.94 +2.539,/(1.02)(3.64)) = (1.0477,10.8323)

(Bt oo

‘O —”_uﬁ

Bs A B RT

(B, _t(lg)mS(ﬂg)) (3.91+2.539,/(0.74)(3.64)) = (-0.2571,8.0771)
()2, + B, + By =2(~1.92) + 5:9443.91= 601

S(23,+ 8, + B;) = 482 (B) +'S*(B,)+$*(B,)
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+2(2)CoV(3,, B,) + 2(2)CoV(,, ;) + 2Cov(B,, ;)
= [4(0.33) +1.02 + 0.74 + 4(0.47) + 4(0.34) + 2(0.76)](3.64) = 28.5376
26, + By + o VSOOI
(2B, + B, + j3;) it(lg)%S(Zﬂl + 3, + 3,)) = (6.01+ 2.205./28.5376)

= (-5.7692,17.7892)

A E-EY LRI FEFAF PO AR OTERE S > T HETY (Y ErA) 2 EI T
iﬂ&’_}i c e 8 T3 R A G M (10.0-15.0C) ~ ¢ (15.1-25.0C) fr% (25.1Cm ) = &

J 2 e T £
LIS 1 2 3 4 5 6
e Y S S S ; ! 3
i i{i%” Y 1088 1107 1178 1288 1455 1981
LIS 7 8 9 10 11 12
Y S T S U SR
1 ?_‘%.‘j 'Y 2370 2659 2577 1937 1553 1170
FrABREET TIOERL T R AYLROM G 4 A AR
D ]_,;z;@ :L'y;:-;g_;g::g s ]_,%"@ T g=v¢ >
1710, otherwise - 2710, otherwise >

@'T#i"ﬁﬁaﬁﬁﬁpﬁii“ :
Yi=Bo+B1Di1+P2Dirte; V=1, 2, ..., 12
b T R ARAES R R Y0 TIOER S EF L H H SRR A WHT AL R

oo i

Source df SS
%L 2 3,182,320.7
B 9 621,360.2
Y 11 3,803,680.9
(- );%";J‘#’?Jfﬁ FHp : B1=P2=0 vs. D1 BaA > L0 A E o (64)
(= )it # Bo’ Pr&EPoz B i (9A°\ )
:
BRANE] 2 Y = By + BDy + Dy, + 6,1 =12, 12
£~ N(0,57)
3182320.7
(TS F=tIR_ "2 = 23.0469

MSE 621360.%
(Z)E(Y|D, =0,D, =0) =4,
E(Y[D,=1D,=0)=/5+5
= B,= E(Y-[D, =1 D, =0)“E(Y.}'D,20.D, L 0)
E(Y By =0, D;=1)= B +p;
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= p,=E(Y|D,=0,D,=1)-E(Y|D; =0,D, =0)

5 By = Vor 020 =1121.6667
By =Yor10r-0 — Yoroneo = 2396.75—1121.6667 = 1275.0833

By =Voroo0s —Voronao =1482.2 -1121.6667 = 360.5333



